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Assessor’s Name:
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(5 marks - 1 each for a, b, ¢, d and e)

Abdul's Cans

1a. How many cans are there altogether? CANS

1b. Abdul gives 5 cans to his friends. How many cans are left? CANS
S O SO
1c. Abdul has 4 cans. EKj EKj EKj EKj
S &
Rani gives Abdul 3 cans. K K K

How many cans are there altogether? 4+ 3= CANS

1d. Here are Abdul's cans. @ @ @ @ @ @ @
K K K K K K K

Abdul gives 5 cans fo Sam. How many cans are left?

Show the sum that you do here.

- = CANS

le. Abdul has 2 cans. Tick ( 4 ) one box.

2 is less than 5 2 is more than 5
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(3 marks - 1 each for a, b and c)

This table shows the number of vegetables on a table.

Vegetables
Carrots Cabbages w w
2a How many carrots are there? Carrots
2b How many cabbages are there? Cabbages

2c

Add the number of carrots and the number of cabbages together.

Show the sum that you do here.

Answer =
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(3 marks - 2 marks for a and 1 mark for b)

3a. Write the floor number in each box. One has been done for you.

Third Floor — =—— D
Second Floor =
First Floor . D

3b. Sam wants to go to the fourth floor. Which button should he press?
Tick ( 4 ) one box.

8a60
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(5 marks - 2 each for aand b and 1 for ¢)

6 5 9 I 0 3

4a. Which of these numbers are more than 6?
Write your answers in the boxes.

4b. Which numbers are less than 5?
Write your answers in the boxes.

4c. Write the names of these numbers. One has been done for you.

6 Six

EE—— \_________________________________________________|
4
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(4 marks - 1 each for a, b, c and d)

These people go to the cinema.

Number

5a. How many women go to the cinema?

Answer = Women

5b. How many men, women and children go to the cinema?

Total =

Bc. What is the difference between the number of children and the
number of men?

5 — 2 —

5d. How many women and children are there altogether?

244
i i i
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(5 marks - 3 for a and 1 each for b and ¢)
Here are some items to decorate a room.

6a. Count the items and write the number in the boxes on the right.

Items Number
11 f

Paint Brushes

Tins of Paints @
Ladder m

6b. Add up the total number of items.
Write your answer in the box below.

6c. Fred loses 3 paint brushes. How many paint brushes are left?

Show the sum that you do here.

Answer =

THIS IS THE END OF THE TEST.
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